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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

The shore that they were walking on drew nearer and nearer to the opposite shore, and as they
came around each promontory the children expected to find the place where the two joined. But in
this they were disappointed. They came to some rocks which they had to climb and from the top
they could see a fairway ahead and - "Oh bother!" said Edmund, "it's no good. We shan't be able to
get to those other woods at all. We're on an island!"

It was true. At this point the channel between them and the opposite coast was only about thirty or
forty yards wide; but they could now see that this was its narrowest place. After that, their own coast
bent round to the right again and they could see open sea between it and the mainland.

1) Where did the children want to go?

vene Techofworld.In

C) Shore
D) Woods

2) What was between the children and the mainland?

A) The sea
B) The woods
C) The bridge
D) The grass

3) Why were the children disappointed?

A) They took a wrong route

B) They wanted to go to the island
C) They wanted to go to the woods
D) The sea was rough
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4) What did the children climb?

A) A stairway

B) Some rocks

C) A mountain-top

D) The enjoyment ferry

5) Where were the woods?

A) Not on the island T h f I d |

B) On the island eC O WO r 5 n
C) On the mainland

D) In another country

6) Which of the following is a correct sentence with respect to use of words: stationary or stationery

A) A stationary shop may do a good business near a school.

B) A car collided with a stationery vehicle because the driver thought that it was also moving.
C) | used hotel stationery to write to my father

D) It requires more force to move a stationery item due to it's inertia.

7) The phrase “lavish something on” means

A) to provide very less
B) to give a lot of something often too much

C) to provide the exact amount needed
D) to provide nothing

8) Fill in the blank with correct prefix or suffix:

He wise argued in the debate and won the first prize.

A) ly
B) ward
C) long
D) ful
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9) Which of the following words is correctly spelt?

A) obscession
B) obsession
C) obscesion
D) obsetion

10) Which of the following alternatives explains the phrasal verb "Hammer away at something"?

A) To work hard and still did not achieve anything T h fW Id I
B) To achieve nothing in life eC O O r 5 n

C) To achive something easily
D) To work hard to achieve something
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following groups of plants comprises highest number of species diversity?

A) Pteridophytes
B) Bryophytes

C) Gymnosperms
D) Angiosperms

11) eSegGRea &9 6aIg! AIQ 60dE adide Taie geIda FRUEIQ 60 00 ?

a== Techofworld.In

C) ®emiadq
D) adeasiq

12) Which of the following objectives of Nehru's foreign policy is incorrect?

A) to preserve hard-earned sovereignty

B) to protect territorial integrity

C) to promote rapid economic development

D) to be more friendly to the bloc led by US because those were pro-democratic

12) 6262Q% 63628@ 710 FQRAGE0 QEQAY AUIQ 6966 9N ?

A) @0 26 AITeINQ sl @4l

B) Ure@e asas! sl Q8!

C) 20 udeAoe AalaQ 6gIARe *aQ!

D) 2I6AARIQ 6RQQIRIR QR QI 2@ 92QY4 6201 QNG 6AAIER FECIAR A6

13) Non-formal Education is -

A) that which occurs outside the formal school system

B) any organized systematic educational activity carried on outside the framework of the regular
system
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C) an institutionalized chronologically graded and hierarchically structured educational system
D) the intentional transmission of attitudes knowledge and skills

13) 26-GAQI0R asl 6203 -

A) gie AAQIAR Gauea iegl QIRIEa AGaN
B) Rade eagia eral QI2I6a QR3S 60 67167 06 a6 aI9e QeI
C) 9@ QAR naiIal Qe ¥ RAIReAe Iesa ade d8l yegl

D) Q6QI198 YoQ RIR ve* 631890 64iee TYARE

14) Mr.Sam Pitroda, Chairman of the NKC, was a recipient of one of the given awards.

A) Nobel Peace Prize
B) Padmashree

C) Padma Bhushan
D) Bharat Ratna

14) 4Q 6@ Q a seaiacuir 8. an degiel, TALINYQ! JAIAYSR AUQ 92 JAAT aiezsa

A) 671699 615 QoRIR TeChOfWO rld . I N

B) oqs!
C) ag gaa
D) 16 6Q

15) Which strategy has been a great success in India and around the world in developing public
speaking and listening skills and promoting communication and interaction among children early on?

A) Do and tell

B) Work and tell
C) Show and tell
D) Write and tell

15) 604 QEG16 AREER Ie° ANIQRACH ATARICEER @8R 8 gaQI P80 FRIQ ¥ TAIAIRS ARIER CAINICAIT B AR VR
RGN 691020 R6Q ?

A) @990 929
B) QIdIeaq 6 Q29
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D) 6RiQ G 929
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) In a dictionary, where the words are listed as per the alphabetical order, among the four words
given as options, which of them appear 2nd?

A) Backward
B) Bacterium
C) Balance

D) Barometer

16) e 2RIRER, 636060 4eGPR 24igeie 2Asa CIRRIRS CRINET, Fes RIFa FTIAIRER SIEAIT 40T AIQ 6166 §o1
A6 21 2

A) Backward
B) Bacterium
C) Balance

D) Barometer

17) In a certain code language, if the word GEAR is coded as HCBP, then how will the word HEAT
be coded in that language?

seex 1 €echofworld.In

C) ICCR
) ICBP

17) 9@ 244 sqie aitise, a8 GEAR ge HCBP aiesa seie 62108, 6060 HEAT 4 @ ca@ aigisa @ad sqie. @4l aQe

A) IDBR
B) ICBR
C)ICCR
D) ICBP

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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Set Id : 62384 29 BATCH3 D.EL.Ed. Odia_10NOV2020

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If p is a positive integer, is p even?
I.p(p + 1) is even.

Il.p(p + 2) is even.

80 8 &
AN -

R ettt Techofworld.In
2. 90 YA€ | anQia AR caaIq A6aq 26T | o
9. 9@ Y€ Il ¥gsal anaya AN c9aIg A6aa 26T |

q. 28 SRQE | ve || anag 1QI0 FITe 6669 AN VAR 62! QI UG 266 |

¥. 90 QR4 | ve || enag eId Faide cose & anAle QAR cee! aIs adug Q&< |

A3 p 9@ URIQR QEIS 26T, 6069 P Y AT @7
l.p(p + ¢) ggaec |

I p(p + 9) gg a6e |

19) In an evening, Udai singh and Vishal kumar were talking to each other face to face in an open
field. If Vishal kumar's shadow was exactly to the right of Udai singh, then in which direction was
Udai singh facing?

A) East
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Set Id : 62384 29 BATCH3 D.ELEd. Odia_10NOV2020

B) West
C) North
D) South

19) aaiiea @ea & 9 FAIR QAR IR CHINI SR AYAIF 8¢ 62IQ 221 c2adca | 98 SaIR QAIES 2101 QoA &S O eIl
aigea AP0, 6060 SaIQ QAR 60¢ dag Qeladien ?

A) 99
B) @44
C) eaa
D) @de

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If Z is an integer, is Z prime?

I. Z leaves a remainder of 2 when divided by 5.

1+ Techofworld.In
¥

%

T

¢. 9@ FRQ€ | anaia AV caaIg Q628 26T |
9. 9@ YA€ Il ¥gFal anla RVQA 62Ig 628 AT |
q. 98 R4 | 9o || enag veI0 FaIde 6069 ANMIQ ARA 62! AIF AYIG 266 |

¥. 9@ QR4 | ve || enag w0 Faide cose & anAle QAR 69! aI aduig 6< |
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Set Id : 62384 29

Q@ Z e gdic 26G, Z 691109 Q°HYI & 2

l. Z, 8 Qial Geu@e 626M, CIRIA Q9648 9 0292 |

Il. 0 < Z < 90

o, 1echofworld.In

C)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Who amongst the following was influenced by Montessori system of education and based his
aims of education on the Montessori system of education?

A) Tagore

B) Krishnamurti
C) Gijubhai

D) Aurobindo

21) 3Ry AuQ @4 6APecEAI 4TI AN QIAI gNIFE 6RARYRI IS° EAPESEAIR B MY 2A6R CIFR VIR ATAQ AIQ SFYR! ?

A) Sicsia

ses | @Chofworld.In

C) fgem
D) zeaidenl

22) Which behavior among the following may be referred to as an appropriate behavior of an effective
teacher for classroom management?

A) Punishing the student on misbehaviour and being a strict disciplinarian

B) Helping students in each and every thing and making them dependent

C) Regular monitoring of engaging the students in a variety of classroom activities

D) Teaching them using a single teaching method and engaging them in the same kind of activity.

22) 39R40 A6Q 624 UGG 646192 ARANRI AIR P66 JRIFAIRT IR RAYS AIPRE 691A QRIAINAIER ?

A) 8185 2ANCAE AACA VG 6 I REE RE0IA AQAIARRIR!

B) gsoi@ F096Q 2IQAINS AVAN @GR Ie* 6QANRS FaaIe 28

C) sieaieq 09 6g46192 ANRNIAER FeAIRo *deIa Fade Q8 adel

D) 6aqieq Iae JRIQIR a1 QIRRIQ RER I 6ANING AR JRINR ANIVIAER FCATE @B

23) Which one of the following statements is correct?

A) Free and compulsory education should be banned because a huge amount of government
money is wasted
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B)

Free and compulsory education should be banned because people don't like free education
C) Free and compulsory education should not be banned because it is the fundamental right of

every citizen
D) Free and compulsory education should not be banned because it can help privileged and elite
students

23) RS 699 92946 0K ?

A)

AIGEI B QRISINRR IV FTF 6291 9FQ QIR IR ARG AGRIAT 22 7] 6208
B)

AIGdI B QRIGIFRS R FTR 6291 ATQ NS CAIRAER AIGEI F]IQ AAQ FQRITIT
C) a8l 6 QrIGINRe 831 F8a 6291 @9Q Q6€ ARG 2! 96T FI9RRA 6A1AR AYRIR

D) qI9dI B8 QrIeee S8 A8 6271 994 Q6% QI 121 A3 IR Y6AIT AIRYRI 6 AZIS 6941R FISRIFIF
QAIRIYY FEQ

24) Which of the following is the basic form of programmed instruction?

A) Systems thinking

B) Linear programming
C) Conditioning

D) Stimulus response

24) 39Rge AuQ 62us 6208 6719IN FAILINYR Fedaq 67I0Q QO ?

nees Techofworld.In

C) *daw
D) 89%a 98qal

25) Brainstorm strategy will NOT help students to

A) recall existing knowledge and organise ideas
B) develop good handwriting skills
C) consider others’ views and ideas

D) develop creative thinking processes and problem solving skills

25) AIeange a4 218G 186 ARIAY *AQ IR
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A) dauaie BIRQ A6e ARINRQI ¥e* a8 906 FARIER

B) aa 29fue osel dla QQRI6Q
C) aqunies 06 ¥e* diedl 2060 a0 AU

D) QeRaIe SARINI 98 AN AR *HIQ 286! FRI8 FALIER

26) Which of the following examples best explains the social perspective on motivation? Saira is in
class nine. She hates maths. Her teacher

A) gives her extra coaching everyday
B) sends her for to the school counsellor
C) puts her in motivated groups

D) calls her parents and asks them to speak to her

26) 39Rge aQI20dgee MIQ 609F 6gadl AU6Q AT QLFERIAQ A6RION VINER I R6Q ? AR RN 656160 L83 | 6Q 980g
Q41 @03 | oIs d8Q

vessemsaesmc  Tachofworld.In
B) oIg Suea anndiels fecq QOIS .

C) aig sgde saigiea 4IFia 2@

D) e ARINIRIF QRS 9e* OIE AR Rl 6291 QL8

27) B.F.Skinner conducted his experiments of operant conditioning on

A) Guinea Pig

B) Dogs and Cats
C) Pigeons and Rats
D) Bats and Crows

27) & 9 999 FeQ 26N REAF Q184 QU6Q QA6 |

A) 905 gaat

B) qeeflIfq° ue deaeflea”
C) Qe0ienIR@° ver qaInINe®
D) cie3010@° 1 ereINe°
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28) The TPACK model of learning created by Mathew Koheler and Punya Mishra is best expanded
as :

A) Teacher's Pedagogical Aplication Content Knowledge
B) Teacher led Particular Curricular Knowledge

C) Technological Pedagogical Content Knowledge

D) Techniques of Practical Content Knowledge

28) quey 6@16eae, ¥e* Q84 AgS QeI gge Aa1gIg @i §a41dee Asea QI96Q Q6Ien Q6T FaIGe

A) d9e< 99190 6QIG40I FAAG VIR
B) d80& qlal agaia Phq a0y ’I1Q
C) 67ade d8I160 3a09g BIQ

D) Qie210e S999g BIRQ 63169

29) The National Council of Teacher Education (NCTE)lays down which of the following norms?

1.norms and standards for various teacher education courses
2.minimum qualifications for teacher educators
3.course and content and duration

4._grants recognition to institutions

o2es 1 echofworld.In

C)1,2,&3
D)1,2,3&4

29) @010 499 891 9882 (NCTE) FORse AuQ 629 AR g6 2087
13990196 91 QIR QI AIIFA IR ARSR1 G AIR

23900105 S9IQI8 *QAQI FRAINE QIR AR 6AIGS!
34104991 8 Y9G G 2

4. NG 1QC 919
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A)2&3
B)1,2,&4
C)1,2&3
D)1,2,3&4

30) Which of the following domains of Bloom's Taxonomy is designed to change individuals attitude,
feelings and values.

A) Cognitive

B) Affective

C) Psychomotor
D) Effective

30) 908 cUI6]IERITQ FYRYE 6RI6ARFER MRIQ 6RUT MVFCATS ACRINIR, NRR! IE° JMEARIQ AFRER @A AR S2IR 62108

oo _Techofworld.In

C) agaliee
D) geiesaiet
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) F6QIB AR 6QT IR SINRY 4F QL2

A) e
B) @
Ce
D)@

32) 609 2405 U6RR GRER 9 060 MIQE 6RINAIN ?

A) @aeq
B) #4399
C) avd
D) zies

33) Qa6 QaQ ged KgeRl FAI ' GRIAN ?

veseza [ @chofworld.In

B) aqde e
C) @ade gal
D) Gig Gau

34) ‘aer’ aea FadolserIa 49 QI8 |

A) zaiak
B) 2Rl
C) uarie
D) ai@e

35) 'QI06QIA’ — 99F 609 AAIA 6AICT FIR 621RT?
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A) aduieg
B) @q

C) egq1@
D) eg

36) 3618 FRIQ 62E 2RGI?

A) 2191Q
B) ciaie
C) aa¢

D) qioe

37) ‘Fu’ goaeR QIRIQ IS 97

v [ @chofworld.In

B) ‘U’ @@
C) ‘@ el
D) ¥’ @@

38) ‘@rieq @Adel’ 9Fe 2d FQua @ |

A) 29918 @89l
B) a9qia 629
C) @avl 629
D) a6iea 624!

39) ‘aI QI 6291’ 9FQ 28 FQaE @Q |

A) SIREraN 62¢IRR

B) siasia 629

C) 9638 geia @aQ!

D) 990 @04 ¢ 218 8 @da!
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40) 691 FRIQ 624T IR YRALISR F68848?

A) Qe
B) 210
C) @aq
D) aig

41) ‘Qed’ 800 QnIdeae 62 QI |

A) Qeyd

B) asia ai@

C) QuInIeR 9QI0 629
D) seia@ Qi@

42) ‘9098’ 495 60Q 2¢6a 2AQANIQ AAIA 62IRG?

»we | @chofworld.In

B) g%
C) aqna
D) adys/2iea

43) ‘@i’ dsa ‘@’ goya 6QIG6R 900 §9Q QIR |

A) @l

B) asIQal
C) qigai
D) eraiq

44) F6QI9 AIQ 674 FRF6R ‘ARG’ ST IR F6ATY REA NS 6RIAT

A) @dg @aede g9
B) 6qua% Qa9

C) 6Q 966 @39 43
D) @id @89 a8
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45) 6206 ‘giaR’ 900 gé 9% Q6% |

v+ Techofworld.In

B) AL
C) gae
D) iege
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) The number of boys in a class is 5 more than the number of girls. If the total number of students
in the class is 35, then what is the number of girls in the class?

A) 10
B) 15
C) 20
D) 25

46) 66154 684160 QPR AIRE T AFAFIRS QLAIER 8 ZYR | A 68AIQ 6AIC BIQ TEY M8, 606Q 6616Q AUPAART el
6960 ?

»© Techofworld.In

C) 20
D) 25

47) What is the perimeter of the semicircle which circumscribes a right angled triangle in which the
lengths of perpendicular sides are 15 cm and 20 cm? (Use 1 = 3.14)

A) 39.25 cm
B) 64.25 cm
C) 75.25 cm
D) 50.25 cm

o~ o~

47) 9@ 2690 90QINl 6260 629 QIR IR ANCRIE SRRQ A8AFC @QF 6aVYER AN AR AIA @ 8 6QA 96 90 6QA ? ( TT = M.0Y
NILIQ *QY)

A) 39.25 ead

B) 64.25 sad

C) 75.25 ¢ad

D) 50.25 sqd
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48) Which is the greatest number that divides 464 and 267 leaving the remainders 4 and 7
respectively?

A) 14

B) 18

C) 20

D) 40

48) sed QRN e 464 ver 267 @ §09 @60 6 QIG6aa QaIgen 4 9 7 a6e ?

A) 14
B) 18
C) 20
D) 40

49) A sum of money becomes %1,350 in 3 years and 1,530 in 7 years under simple interest. What
is the principal amount?

ve Taechofworld.In

C)Z 1,215
D) % 1,250

49) 9o 34g a1 e guea M edea T 1,350 e 7 edea T 1,530 s210ad| QRuea 0G4 666 ?

A) % 800

B) % 1,015
C)% 1,215
D) % 1,250

50) If the system of linear equations 2x + 3y = 5 and 4x + 6y = k has infinitely many solutions, then
what is the value of k?

A)S

B) 10

C)15

D) 20
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50) a@ 2x + 3y = 5 e 4x + By = K @ 60490 aNeaaa A8A6A 2QAIN Q6L A6Re AR 028, 6669 K @ FIR 6R6C ?

A)5
B) 10
C) 15
D) 20

51) If a quarter of a circle of radius 7 m is cut from each corner of a square paper with side 16 m,
then what is the area of the remaining paper?

A)81sq.m

B) 102 sg. m

C) 154 sq. m

D) 156 sq. m

51) a@ 9 foa MIASTAQ I@ Q00 ¥L-0Qdrag ¢9 Aca AR QITLER JERUR 6R1Q RCIAIN, 6069 2QAQ QTSR 68RTR 6R60
629 ?

ae = Techofworld.In

C) 154 ¢ dea
D) 156 <4 dea

52) Four clocks alarm after every 20 minutes, 30 minutes, 1 hour 20 minutes and 1 hour 40 minutes
respectively. All the clocks alarm together at 12 noon. They will again alarm together at

A) 12 noon

B) 8 a.m.

C) 10 a.m.

D) 12 a.m.

52) qeaid erel aaigen gé 20 Ade, 30 afe, 1 el 20 Ade ve 1 o1 40 GR6 Q6R ZINIF QAN | AN TG ¥RG §gea
1260 1@g 2IRIA §23 | 6QAI6R 12 ANA6ER Q8 IRQ AR 6QEQ

A) 12 noon
B) 8a.m.
C)10a.m.
D) 12a.m.
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53) A cloth merchant says that due to drop in the market, he sells the cloth at 15% loss. Since he
uses a false metre-scale, he actually gain 20%. What is the actual length of the scale?

A) 81.83 cm
B) 79.83 cm
C) 70.83 cm
D) 62.45 cm

53) 1@ Q0 QAN @8 6 PRIRER 2IA 62Q 6A @aeIQ 15% 8060 &8 @05 | 6a62Q 6Q ¥R fayl ACR-63R MR FeB, 69
g906a 20% QIR 203 | 6ARQ YYO AN 666 ?

A) 81.83 6af
B) 79.83 sad
C) 70.83 sad
D) 62.45 sad

54) A train covers 90 kms in 1.5 hours.What is the distance covered by the train in 3.5 hours,
travelling at the same speed?

v Tachofworld.In
C) 210 kms
D) 240 kms

54) 1.5 erel auea 9@ 6@ 90 denifica 20 @61 AR 6206Q AIG! 2QAR! 68 3.5 eI AUER 6266 Q0! AIQI @GR ?

A) 150 @4
B) 180 @¢
C) 210 @9
D) 240 @4

55) If Ais a subset of B, then AUB =

A) A
B) B
C)A-B
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D)AXB

55) @ A 6208 B @ 9@ a96a¢, 606 AU B =

A) A
B) B
C)A-B
D)AxB

56) Which of the following is the least 6 digit perfect square?

A) 1,02,400
B) 1,00,200
C) 1,08,900
D) 1,00,489

56) 3qage nuQ 6aus a4k 6 a¢ 98a gd @d ?

o Techofworld.In
C) 1,08,900
D) 1,00,489

57) What is the number of diagonals of the polygon in which the sum of all the internal angles is
1080°?

A) 20
B) 32
C) 36
D) 40

57) 1@ 2geee 2Isusaid 6216geea 208 9@ 1080° 99 wRia od T 6060 ?

A) 20
B) 32
C) 36
D) 40
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58) At present, Neha is 12 years elder than Renu. 6 years ago, Neha was 4 times as old as Renu.
What is the present age of Neha?

A) 20 years
B) 22 years
C) 23 years
D) 24 years

58) adair, 6ael 60ge 0@ 12 od @@ | 6 od g6, 6921 609 0IQ 4 g4 LAAR YER | 6RATA QFAIRR PAQA 6R60 ?

A) 20 o
B) 22 ad
C)23 ad
D) 24 a4

59) If A= {1,2,3,4,5,6,7,8} and B= {1,3,5,7,8,9} Then what is the value of 445 =2

oesesy  Techofworld.In
C) {9}
D) {1,2,4}

59) a6 A= {1,2,3,4,5,6,7,8) < B= {1,3,5,7,8,9} soee <2 AR caso cee ABB =

A){2.4,6,8.9)
B) {2.4.6,8}
C) {9}

D) {1.2,4}

60) A child arranges 3,025 chocolates in the squares(boxes) of a chess board, such that the number

of chocolates in each box and the number of boxes selected to place the chocolates are equal. How
many boxes are left without any chocolates?

A) 6
B) 7
C)9
D) 12
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60) 9@ 89 9@ 60Q 62160 24 (Q19) 68 3,025 06R6RE MG F6Q, 60T YEHR PER PERIERE THYI IS CERIERE QYR AR
F6RIR10 QIF LA AR Q2R | PERIEAET AR 6REQIT QI ¢IR 9Bl ?

> Techofworld.In

C)9
D) 12
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The study of Atmosphere is called

A) Aerology

B) Geology

C) Astronomy
D) Meteorology

61) QIgree agea UL 1Rl QRIAN

A) QIg SRIQ
B) @ G®Ig

C) 6auIeamIe
D) aiédiaie daia

62) A group of Islands that lie in fairly close proximity is known as

vee Techofworld.In

C) Gneiss
D) Archipelago

62) FIUYHR IR 6611 AL % FREOR 26T, G121 T AIF6A saigal

A) Qaig

B) agaiai
C)aq

D) 2i86amussll

63) The Governor is the Head of the State but the defacto executive authority rests with whom?

A) Council of Ministers
B) Chief Minister
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C) Prime Minister
D) President

63) aievaie 62083 QI Qe @9 AaIeQl QIGIGRIR! Q@FAS Il IR AN ?
A) 9a1 068

B) geniaa
C) QRN

D) Qg

64) Rajatarangini' is a literary work by Sanskrit scholar Kalhana, and it describes the history of

A) Goa

B) Odisha
C) Kashmir
D) Kerala

64) QRSIAFEN 'AYE I8G FNVRIA IR AZNS QITY Q° 2! YL RFLAQ LR R6Q |

vea | @Cchofworld.In

B) a@al
C) egia
D) 6aa®

65) Acid rain originate mostly from

A) Steel plant reactors
B) Thermal power plants
C) Nuclear reactors

D) Medical waste

65) 2q ol gioe 1a8Q aQq sIRaN

A) 9916 QIO go&al
B) cl98 G946 6@
C) 6@ 9ol
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D) 5@QIea 9s4ag

66) Which word describes the extremely hot liquid and semi-liquid rock located under Earth’s
surface?

A) Plasma
B) Sima
C) Magma
D) Sial

66) 699 6% Y1 JI6A UG AGKYR T AR 19 AF-0aR ARIQ LRI A6Q?

A) Qieql
B) qiq
C) euiaq
D) Qaim

67) A dispute between the Centre and State is resolved by the Supreme Court under

g) Artcle 133 TeCh OfWO rld E I N
) Article 132

C) Article 131

D) Article 131 (1)

67) gdneaiss Qiel 9@ IR 2IR6Q 602 6 QIRY ARICA FRILQ AARIR 29

A) ¥l e
B) el en9
C) uial eme
D) diel eme (e)

68) Who amends the law relating to Indian Citizenship?

A) President
B) Prime Minister
C) Parliament
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D) Supreme Court

68) 910610 FIGEREI ANNIG URRER BI TEARIR QB ?

A) Qugas

B) quieaat
C) @@

D) ascle AU

69) The regions like Antarctica, Australia and the major part of South America are located in

A) Eastern Hemisphere

B) Western Hemisphere
C) Northern Hemisphere
D) Southern Hemisphere

69) areiddal, z6adal I ofe AEARRIQ g% Zra 98 regse 1R0ka 29ge

N 1€Chofworld.In

C) @ea saimis
D) @86 saiqis

70) Which party observed 'Black Day' on the 3rd July, 1947 against Partition of India?

A) INC

B) Communist Party of India
C) Hindu Mahasabha

D) INA

70) Q100 FRIRR F6QINER N YAIR, € ¢¥O 60 694 @R ‘@91 F9Q’ AILR RGN ?

A) Ueed

B) @ayRe aid ua adal
C) g aeiae

D) ziee
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71) King Harshavardhana who ruled a large empire in northern India belonged to

A) Shunga Dynasty
B) Paurava Dynasty
C) Pushyabhuti Dynasty
D) Satavahana Dynasty

71) 29Q NIAGER 9@ 92 AIFIRY AIAQ QAR AR LFIFITA Y6R

) o
semmes 1€ChOfworld.In
C) gaigd QIea-a
D) a6QI2e QIea°d

72) The Ministry of Environment, Forest and Climate Change is responsible for

A) The livelihoods of Tribals

B) Recruitment of Indian Forest Service

C) Administration of National Parks

D) Maintenance of tribal culture of forest dwellers

72) <eaiel 0864, 2a9 N9 991 98908 AR€INA Qa1

A) AT 1T

B) Q16010 2R 629I6Q 7939

C) 91613 aMIegeaa gaIae

D) SIAQIQAIS ARAA FIEQ AVAIERS

73) Which of the following options is correct regarding the transgender community?

A)

Shabnam Banu was the first transgender to contest an election from Tamil Nadu
B)

Eunuchs/transgenders were granted voting rights only in 1994

C) Shabnam Banu was defeated as she did not qualify to contest elections for public offices
D) Transgenders were granted voting rights only in 2014
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73) Q19684 AfQI0 §a06 FAYE FeeqFe AUQ 60¢T A0 26e ?

A) 9999 QI gaA SIREREA NER SIINRIRQ FRlenea goQRel @dgen

B) @39 / SIRERERAIRY 6AAR ¢ LY 6Q 6RICRIR ZYRIN YR FAIAINYS

C) Qaiar AdIRa QI FRIER APRIQ 6QIGHE! § 4RI 899N I OIS 6RIRYER
D) SIREFEAAIRG 6R9R 90 0¥ 6Q CACAR YRR IR VIR

74) The Equator does NOT pass through which country among the following options?

A) Brazil

B) Indonesia
C) Mexico
D) Kenya

74) GoRge FRegFe AU6R 694 624 69Q YA AIRRIT ?

»ee | @chofworld.In

B) @saicadal
C) 601g6Rl
D) a5l

75) The Hindustan Gadar Party was headquartered in which of the following cities in United States?
A) Chicago

B) Oregon

C) New York

D) San Francisco

75) 299ie 9ea aifa &Y QINIIRA 2CAARIQ BAYe ALAFTR ARIQ 6QV0IER BRI ?

A) oRIeall

B) Geae®
C) Qi

D) Qe 2Rl

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Section 8 - Paperll-Science

No. of Questions: 15

76) Which of the following chemical reactions can produce NH3 gas?

A) NH4Cl and HNO3
B) NH4Cl and Ca(OH)2
C) Heating NHaNO3

D) N20 and Hz

76) dqRde aaude gogal aug 6a¢d NH3 qua eqee edaide ?

A) NH4Cl <& HNO3 TeCh OfWO rl d . I N

B) NH4Cl we» Ca(OH)2
C) NH4NO3 aeq adel
D) N20 e H2

77) What is the unit of 'b' in the van der Waal's equation?

A) L mol
B) mol L'
C) mol? L2
D) L2 mol-!

77) 4@ 609 @a anieedsa 'b’ a vee @’a?

A) L mol
B) mol L'
C) mol? L2
D) L2 mol!

78) Which of the following has Newton meter as its Sl unit?

A) Acceleration
B) Work
C) Force
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3N Ve

D) Velocity

78) AARYS MRIQ 62626R FAGR F5Q , SI 1R / AT ML 24 ?

A) Q@8
B) Qidy
C)ae

D) 6aqa

79) Select a foodborne toxin of the following:

A) Diptheria toxin
B) Tetanus toxin
C) Botulinum toxin
D) Cholera toxin

79) G6qI9 AUQ AINLFO FaIS ARId QI8Y:

A) Gaeadal o§e TeCh OfWO rl d s I n
B) Seiea 6§%

C) se1gfan 6§%

D) @6a¢l 632

80) Pome is a fruit which is derived from

A) multicarpellary syncarpous inferior ovary
B) multicarpellary syncarpous superior ovary
C) superior monocarpellary ovary

D) bicarpellary syncarpous superior ovary

80) sain1 6208 @ a9 QIR 92Q A

A) fReisdaiar aciedia Agaiea 6ad
B) aRRedaet Acicaia gge eaid
C) 9082 A6RIRIEIRIA BaId

D) @iecsdaial Faisdla godee eaid
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81) Select the reaction which produces ortho-para product on benzene ring.

A) Benzaldehyde with methyl chloride in presence of anhydrous AICl3
B) Phenol with methyl chloride in presence of anhydrous AICI3

C) Benzoic acid with methyl chloride in presence of anhydrous AICI3
D) Nitrobenzene with methyl chloride in presence of anhydrous AICl3

81) 622 godaIq 918q QIRIR 62069 AT6a 262-AIRl QYR AR V6

A) 2Qieea AlCI3 @ @agdsa feiea 6q/aiae 26 ceaiadalae
B) aigieea AICI3 @ @addsa e 6qeiae ade 6a6ria
C) aqeea AlCI3 2addse faiem 6q/10e A86 6960180 13Q

D) ai@ieea AICI3 @ @0gdsa faien 6q/010e a86 RIRECIEI6aR

82) The value of triple point temperature and pressure of water respectively are

A) 373.17 K and 3.02 x10% atm TeChOfworId I n

B) 273.16 K and 6.04 x103 atm
C) 73.14 K and 1.05 x102 atm
D) 103.27 K and 2.43 x102 atm

82) am are IOnIgl Ie* 9 QA 6208 QAREN

A) 373.17 K e+ 3.02 x10°2 atm
B) 273.16 K e 6.04 x10-3 atm
C) 73.14 K e 1.05 x102 atm

D) 103.27 K we* 2.43 x102 atm

83) The energy that is most likely to be possessed by the water that is stored in huge tank is

A) electrical energy
B) kinetic energy
C) potential energy
D) sound energy
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83) 9@ 920 SUIF FRIEA A°AJG AIEER 2QI 93 6208 :

A) 3Q4e 63
B) aGe 63
C) 3% 68
D) a2 4@

84) Earthworms breathe through their

A) Skin
B) Trachea

C) Pores at its anterior end
D) Lungs

84) ful sanies 2l AR 34IAggIQ F23

»=  Techofworld.In

C) 2o ¢ QIa6a 89
D) qaqa

85) In mitochondria the inner membrane forms a number of infoldings called the

A) Thylakoid
B) Grana

C) Cristae
D) Matrix

85) Ainsciedzica f0ea 6A6AR 1@ AINR AR SRETIYT FOR 96a

A) 2R184@
B) e

C) @

D) 7158
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86) Persistent calyx refers to the portion of calyx that remain with the fruit at matured stage. It is
found in

A) Capsicum
B) Garlic

C) Onion
D) Chives

86) <1dgian @ife @26R QAR g QN QIR 08aQ 2LYES TP QR0 62IQAN 121 Y0IER AdaN

A) 43eq
B) ags
C) dae
D) ¢a<

87) What will be the formula of a compound consisting of three atoms in which R occupies the
corners, S occupies half of the edge centres and T occupies the body centre positions?

nrsm | @chofworld.In

B) RS3T
C) R2S3T2
D) R2ST2

87) 9618 aenigq 6aa 600 cAIdea adal @'4 629 6a9gsa R 626, S dIee 21 2ra v T aie 600 §0Q Qua @daa ?

A) R3S2T3
B) RSsT
C) R2S3T2
D) R2ST2

88) The value of work done is positive if angle between the direction of force and the direction of
motion and displacement is a/an

A) acute angle

B) obtuse angle

C) parallel to each other
D) right angle
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88) QINYQ T IR 4, AR ARQ A9 G2 AFCLAR G IQ° TRIAR AR 29 :

A) QR 616l
B) g ea14
C) aaieqi®
D) aq1 6@14

89) Which of the following is associated with Planaria?

A) hibernation
B) lost body part

C) generate bioluminescence
D) survive without oxygen

89) 3Ry MmiQ 6e4S gIRIdaI 926 960 ?

nesese | @CHOTWoOrld.In

B) saiee zra 2QIQQ!
C) cicaigainsgq 98 QAR
D) zgeie a0 924!

90) In plant cell, the primary cell wall lies internal to the

A) plasmodesmata
B) secondary cell wall
C) middle lamella

D) tertiary cell wall

90) afe 62186Q, gIAFie 61 QISR IRAQ INISAIQ 26T

A) USEAIEEAAIS

B) 6a@°6@ seia 91910
C) 8@ ausaqi

D) 665621@ saia 9I91Q
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1D 31 |B 61 | D

2|A 32 |C 62 | D

3|€ 33|C 63| B

4| B 34|C 64 | C

5| C 35|A 65| B

6| C 36 B 66 | C

7|B 37| B 67| C

8| A 38|B 68 | C

9B 39| C 69 | D
10 | D 40 | C 70 | C
11 |D 41 | B 71 | C
12 (D 42 | A 2| C
13 |A 43 | A 73|B
14 | C 44 | A 74 | C
15| € 45 | C 73 | D
16 | B 46 | B 76 | B
17 | B 47 | B 77 | A
18| B 48 | C 78 | B
19 |C 49 | C 9| C
20D 50| B 80 | A
21 |C 51|B 81| B
221 C 52|B 82 |B
231C 33 |C 83| C
24 | B 54| C 84 | A
25 |B 55|B 85| C
26 | C 56 | D 86 | A
27 | C 57 | A 87| C
28 | C 58| B 88 | A
29 (D 59| A 89 |B
30 | B 60 | C 9 | C
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